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Note 2016 

 
2015  

Inventory residence period 
 

65 
 

31  
Trade receivables residence period 1 85 

 
46  

  
150 

 
77  

(-) Trade payables settlement period 
 

-73 
 

-63  
Length of the working capital cycle 

 
77 days 14 days 

 
 

 
 

Note 01 - Trade receivables residence 
period 

     
Trade receivables residence period = 

Average Trade Debtors / Receivables 
x 365 

Days Credit Sales  

       

  
2016 2015 

 
  

26,548,000 x 365 D 9,074,000 x 365 D 
 

  
114,000,000 

 
72,000,000 

  
       
  

85 days 
 

46 days 
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Rs.Mn 

Year Investment Revenue Operating cost Cash flows Cum. CF 

0 (180.00) 

  

(180.00) (180.00) 

1 

 

50.00 (30.00) 20.00 (160.00) 

2 

 

80.00 (40.00) 40.00 (120.00) 

3 

 

100.00 (50.00) 50.00 (70.00) 
 

4 

 

110.00 (60.00) 50.00 (20.00) 

5 20.00 80.00 (40.00) 60.00 40.00 

 

PBP = 4 Years + 20/60 * 12 Months 

  

4 years and 4 months 

  



a) (i) 
Sales Price Variance = Sales Value Variance  - Sales Volume Variance 

 

= Rs. 600,000F - Rs.360,000A 

 

= Rs. 960,000F 
   

Since the selling price variance is always equal to selling price margin variance the answer               
Rs. 400,000F can be considered as the correct answer too.  

(02 marks) 
(ii)  

Sales Volume Margin Variance = Sales Margin Variance  - Sales Margin Price Variance 

 

= Rs. 150,000A - Rs. 960,000F 

 

= Rs. 1,110,000A 
   

If the selling price margin variance is considered as Rs. 400,000F, then the sales volume margin 
variance would be Rs. 550,000A.   

(02 marks) 
b) (i) 
Sales Price Variance = Actual Qty. x (Budgeted Price - Actual Price) 

Rs. 960,000F = Actual Qty. x (40 - 50) 

Actual Qty. = Rs. 960,000/10 

    Actual Qty. = 96,000 Units 
     

(ii)  
Sales Volume Variance = Standard Price ( Stan. Sales Qty. - Actual Sales Qty. ) 

Rs. 360,000 A = 40 ( Stan. Sales Qty. - 96,000  ) 

360,000 / 40 = 

 

( Stan. Sales Qty. - 96,000  ) 

Standard / Budgeted Sales Units    = 

 

(9,000) + 96,000 

                                                        =    87,000 units   

(03 marks) 
(Total 10 marks) 

 
 









  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
d) 

Optimum production mix 
Point C is the optimal production mix in which 20,000 Units of Chips and 17,000 units of 
Choco will be produced.  

 
e) 

Contribution calculation under corner point method.  
 
Corner point method 
A Y=30,000 , X=0 
 (30,000 X 20) + (0 X 26) = 600,000 
  

B X=9,300 ,Y=30,000 
 (9,300 X 26) + (30,000X20) = 841,800 
  

C X=20,000 ,Y=17,000 
 (20,000 X 26) + (17,000X20) = 860,000 
  

D Y=0 , X= 20,000 
              (0 X 20) + (20,000 X 26) = 520,000 

  



A 
a) 
 

Rs.000 Budget  Flex Budget Actual Variance 

Volume 125,000  138,000 138,000 - 

Sales 27,500.00 27,500/125*138 30,360.00 30,153.00 (207) 

Variable cost      

Material cost (5,750.00) 5,750/125*138 (6,348.00) (6,520.50) (172.5) 

Labour cost (7,500.00) 7,500/125*138 (8,280.00) (8,298.40) (18.4) 

Production overhead (5,000.00) 5,000/125*138 (5,520.00) (5,752.30) (232.3) 

Distribution overhead (1,187.50) 1,187.5/125*138 (1,311.00) (1,290.30) 20.7F 

Administration overhead (900.00) 900/125*138 (993.60) (883.00) 110.6F 

Total variable cost (20,337.50)  (22,452.60) (22,744.50) (291.9) 

Contribution 7,162.50  7,907.40 7,408.50 (498.9) 

Fixed Production (2,375.00)  (2,375.00) (2,450.00) (75) 

Fixed Admin cost (540.00)  (540.00) (540.00) - 

Total fixed cost (2,915.00)  (2,915.00) (2,990.00) (75) 

Profit 4,247.50  4,992.40 4,418.50 (573.9) 

(09 marks) 
 
b) Objectives of budgetary control system  
 

 Compel planning – Having a budgetary control system in place the variances will be 
calculated and then investigate for the improvement of operation resulting a planning for the 
future to avoid such a variance.  

 Co-ordinate activities – As a result of investigating the variances, it is required to co-ordinate 
with the other departments to rectify the variances.  

 Motivate managers to perform well – The managers will be motivated as they are given the 
target and evaluate their achievement.  

 Delegate authority to budget holders – The budget holder is responsible to explain the reason 
for variances and corrective action should be taken within the authority given.   



B) 
a)  

Direct Labour 
Rate Variance = Actual hours  x (Standard rate - Actual Rate) 

 
= 450 - (8,298,400/18,860) x 18860 

 
= 188,600F 

    (02 marks) 
b) 
Direct Labour 
Efficiency 
Variance = 

 
Standard Rate x (Standard hours - Actual hours) 

  
  450  

 
(138,000*8/60  

 
18,860) 

  
  207,000A  

    (02 marks) 
c) 

 

Operating statement  

   

 

Rs.000 Rs.000 Rs.000 

Budgeted contribution   7,907.40 

Sales variances   (207.00) 

   7,700.40 

Variable cost A F  

D. Material Price Variance 

 

144.90  

D. Material Usage Variance 317.40   

D. Labour Rate Variance  188.60  

D. Labour Efficiency Variance 207.00   

VOH Expenditure variance 94.30   

VOH Efficiency variance 138.00   

Distribution OH Expenditure Variance  110.60  

Administration OH Expenditure Variance  20.70  

Total variable cost 756.70 464.80 (291.90) 

Actual Contribution   7,408.50 

 
(06 marks) 

(Total 25 marks) 
  




